Model and sample answers for
Writing tasks

TEST 1, WRITING TASK 1

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5.5 score. Here is the examiner’s
comment:

This answer focuses on the key features of the information, clearly grouping the countries,
using supporting figures and presenting an overview. However, there is no clear reference to
what the percentages represent and key comparisons need more expansion.

Information is organised with clear signalling and some effective referencing and linking,
although not all ideas are clearly linked and the overall progression is achieved by repetition in
the final section.

The range of vocabulary is rather narrow and just sufficient for the task. The attempt to
paraphrase the rubric shows limited flexibility. There are several spelling and word form errors,
and quite a lot of repetition. Similarly, the range of sentence forms is not wide, with few
examples of complex structures. However, apart from one or two errors in basic grammar,
simple structures are accurate and easily understood.

Different countries’ consumer spendings are quite different. The table shows the vary
consumer spending on a seires of intems in the five countries, namely, the Ireland, Italy,
Span, Sweden and Turkey in ZOOZ .

Food., drinks and tobacco were in the most important position on consumer spending in all of
the five countries, and in a different percentage. In Ireland and turkey. they were near
30%, while in the other three countries they are under 20%.

Clothing and. footwear were the second important consumer spending in these countries. In
ltaly, they got 9%, ard in Sweden, they were 5.4%. In the other three countries, the figure
were very similar, all were near 6.5%.

The last consumer spending were Leisure and. education. In Turkey, they were 4.35%, and in
the other four countries the figure were under 4%.

In conclusion, it can be said that in 2002, food., drinks and tabacoo were the most
important consumer spending in the five countries, and the different countries’ consumer
spending were quite different.
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Model and sample answers for Writing tasks

TEST 1, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 2, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 2, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7.5 score. Here is the examiner’s
comment:

This is a thoughtful and well-argued response to the task. The candidate examines the opposing
views of the topic and gives a clear opinion that is well developed and supported. To reach the
highest band a more clearly-signalled conclusion would be needed. The argument is well
organised and linking is well managed throughout. The development of the answer is not helped,
however, by poor control of paragraphing which sometimes confuses the links across different
sections. This is a weak feature of the script which limits the overall rating. In contrast, an
excellent range of vocabulary is used with a sophisticated level of control and only rare slips. The
range of structures is also wide and most sentences are accurate and precise, but there are
some errors and omissions. These, however, are only minor and do not affect communication.

Fixing punishments for each type of crime has been a debateable issue. There are many
arguments supporting both views, those for and those against fived punishments.

On the one hand, fixed punishments will have a deterring effect on society. Individuals
knowing that they will be subject to a certain punishment if they are convicted with a
given crime, will reconsider committing this act in the first place.

This deterring effect also leads to social stability and security, through minimising the
number of crimes committed.

If people knew they would be able to convince the court or the jury of a reason for
having committed the crime they are accused of, penal decisions would be largely
arbitrary. This would result into criminals getting away with their crimes and into a high
level of injustice caused by the subjective approach of different courts.

On the other hand, taking the circumstances of a crime and its motivation into
consideration is a prerequisite for establishing and ensuring justice and equity.

A person killing in self-defense cannot be compared to a serial Killer, moving from one
victim to the next. In my opinion an intermediary position between both colutions is the
perfect way to establish and ensure justice and equity.

There have to be fixed punishments for all crimes. However, criminal laws have to
provide for a minimum and a maximum for the punishment and the laws also have to

foresee certain cases of exemptions.

An example for setting minimum and maximum penalties is Competition Law where a
person being held liable of a crime under this law will be convicted to pay a fine,
according to the harm caused by the violation and the profit gained by the violator
through committing the crime.

As for the exemptions, in some countries the law exempts thiefs stealing food during a
period of famine taking into consideration the distress and hunger.

Also, a person killing in self-defense will be exempted from punishment.
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Model and sample answers for Writing tasks

TEST 3, WRITING TASK 1

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6.5 score. Here is the examiner’s
comment:

This answer clearly presents and illustrates the key points of the information. The writer groups
the data effectively and draws clear comparisons, although these could be more appropriately
extended in the overview. Information is well organised across the response and a range of
linking devices is used.

The opening paragraph, however, is an inadequate paraphrase of language given in the task,
and although there are some appropriate collocations in the response, overall the range of
vocabulary is rather restricted. Control is good, however, with few examples of error.

A variety of structures is used with some fluency. There are occasional errors in punctuation
and there are also some omissions and errors in grammar, but these tend to be minor and do
not reduce communication.

“The chart ca:'.v:e.'é‘; information about the percentage cl-\antaca i\ average
house prices n five ddfferent cities located in five dfferent countries
over |2 Yeaor PG-_PLOCJ. be tween (990 and Z0O0OZ compar‘e.cl with the av::.-_racae
house prices (n 1989.

Ac_corclér\% to the chart, clur-i.r\ra the P@_rdoal from 1990 to 1995 the average
prices of houses n three cities decreased QL%ni.gi.car\tlto b\o five percent
in New York (UW,SA) and about 7.5 parcent i both 'E)k‘ao (_'S'apan) andl
Lonclon (UK). While. the averaoe house prices inereased “al(.cakt'l‘o in two
cities Madrid (,S'par.‘n) and Frankfurt (Gca_rmamo) \:»0 about

I.5 percent and Z percent re.‘ape.ct.f.\fc-..ha-

As {ar as the next pc-.‘_n‘.ool “996“2.(301) (8 concernead, it (s clear that the
avar‘acae house prices decreased Qt\lto o %k%o (_S apar\) }::sd 5 percent. TITn
contrast the average house prces inereased in the rest of cities. La
New York it increased c_onsi.der‘apl-o bno 5 percent, in Madrid it increased
%|Lca|\tll6 bld H percent, Frankfurt (t inereasec bno Z percent.

Loncon has the largest increose (n the average house price over the &-
gear periocl from 1996 to 2ZOOZ as (it increasecd olramtc’.c.alho b«O Il percent.

Al in all, there are a wide differences in house prices be tween the five
cities which dustrated n this chart. These ddfferences may be a result
of the number of population or the number of houses re_cbuirc-_cl N a certain
m’.‘tnd.
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Model and sample answers for Writing tasks

TEST 3, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 4, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 4, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5 score. Here is the examiner’s
comment: !

This answer is less than 250 words and it does not address all parts of the question, so it loses
marks. Nevertheless, some relevant ideas and a position on the issue are presented. Ideas are
organised and the structure of the answer is clearly signalled. Paragraphing is not always
logical, however. There is some good use of linkers, but there is also a lot of repetition due to
inadequate use of referencing and substitution. The high level of repetition [‘knowledge and
skills’ is repeated nine times] also indicates limitations in the range of vocabulary although,
apart from language given in the rubric, there is just sufficient additional vocabulary for the task.

~ The answer includes attempts at complex sentence forms, but these are generally awkwardly
phrased and tend to require some re-reading to understand. Nevertheless, there are examples
of accurate complex structures.

What knowledge and skidls should universities provide has been arqued for many
years. Some de think that the true function of universiies provide knowledge
for their own purpose, but nowadays, more and more people point out that
universities should provide graduates with the krowledge and skidls according to
the workplace.

The first reason for universities should provide these knowledge and skidd is the
students’ needs. Obviously, the most of the students go to university purpose of 4s to
get some knowledge

and skidds which could make them have the ability to get a job. If a university
does rot provide these krowledge and skidds, the students might rot get a job and
they would be very a’,és.f}opaénfcd. As a result, the university would Adose its
students.

Moreover, providing knowledge and skidls needed «n the warépface maks a
unwversity progress. The new skidds and information always are indtiated in the
workplace, so focusing on the needs of the workplace the university could get sound
strategees to do research and make 4t more mordenization.

Lastdy, providing these krowledge and skidds could benefit our country which
usually gives a financial support to universdies. Having these knowledge and skidls,
Students are more easy to get a j'ob, and this can make our countries’ economy
strong.

In conclusion, 4t can be saud that ,Drovz.'dx.ng the .énowjed'ge and skulls which the
workplace needs 4s every unuwersiies' basic function.
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Model and sample answers for Writing tasks

TEST A, WRITING TASK 1 (GENERAL TRAINING)

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST A, WRITING TASK 2 (GENERAL TRAINING)

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7 score. Here is the examiner’s
comment:

The response looks at the advantages of living in apartments and houses then briefly considers
some disadvantages before giving the candidate’s own opinion. Fuller development of the
disadvantages would raise the candidate’s score here. The ideas are clearly organised and
paragraphing is logical. There is some under-use of cohesive devices and some incorrect
referencing, but links between sentences and paragraphs can be clearly followed. The range of
vocabulary used is varied and there is some good use of collocation, but there are occasional
examples of inappropriate word choice, and better control of spelling would help to raise the
candidate’s score. The range of complex structures could be wider, but there is sufficient
variation in sentence forms and sufficient control of grammar and punctuation to reach this
band. Some errors occur, but most are minor and do not reduce communication.

In big business cities there are two options available for the type of accommodation:

houses and apartments. Some people prefere to live in apartments and some like to live
in houses.

In big business cities, where almost everyone is going out daily for work or study,
apartments provide a much more comfortable and safe way of living. The advantages
include the fact that there is one key and lock they have to take care of, and also the
sense of being a part of a big family. Usually a quard sits at the main gate, so
children can play around in the compound with their next door friends. In addition, not
much daily cleaning is required in apartments as no staircase has to be clean, which is
a difficult task - all house wives know it very well. But a key advantage is that it is
safe to go on voccation for a long trip.

On the other hand , houses have their own attraction for its inhabitants. Garden lovers
usually prefere houses as they can have their own garden. It is also easy to keep a
pet, especially a dog in a house because dog can play around the garden. If someone is
interested in maintaing cars himself, it can only be possible in houses where one can
have his own garage.

Where people are sometimes much more concerned about their privacy, living in apartments
can be a very difficult for them. It may also be the case that someone is not able to
deal with other people, for instance next door neighboures, and than house can be a
best choice for such people.

However, sometimes houses can be a bad choice for low income people. Maintaing a big
house and running it properly can be a problem for such cases.

At the end | must say both options can be good or bad, depending on the personal
considerations. But from my point of view, | must say apartments seem a gft of modern
way of life which is not common in my home town.
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